FAUQUIER COUNTY GOVERNMENT AND PUBLIC SCHOOLS

PROCUREMENT DIVISION

320 Hospital Drive, Suite 23 Warrenton, Virginia 20186 Phone: 540-422-8348

NOTICE OF CONTRACT

DATE: April 3, 2024

COMMODITY NAME: Emergency Vehicle Up-fitting Services

CONTRACT NUMBER: 4-24mrc (Rider, City of Chesapeake)

CONTRACT PERIOD: September 29, 2023 through May 19, 2024

RENEWAL OPTIONS: Two (2), one-year renewal options

Renewal #1: May 20, 2024 through May 19, 2025

CONTRACTOR: East Coast Emergency Vehicles, LLC

17226 Commerce Lane Smithfield, VA 23430

Phone: 804-536-6172

TERMS: Net 30 days

FOB: Destination

FOR FURTHER INFORMATION CONTACT: Megan Roberts, Procurement Officer III

Phone: 540-422-8348

megan.roberts@fauquiercounty.gov

NOTICE TO ALL FAUQUIER COUNTY GOVERNMENT AND PUBLIC SCHOOL USING DEPARTMENTS: This contract is the result of a competitive bid program and its use must follow the FCG&PS Procurement Policy/Procedures for the purchase of the commodity listed herein. Please see the reverse side of this notice for further instructions regarding this contract.

INSTRUCTIONS

- **1.** <u>Orders:</u> All FCG&PS Using Departments must order services listed by issuing FCG&PS Purchase Orders per FCG&PS Procurement Procedures Manual. An extra copy of the Procedures Manual can be obtained by calling Procurement at (540) 422-8351 or 8352.
- 2. The applicable contract number, vendor number, estimated total dollar amount (can be done as a "Not to exceed" estimated figure), contact person with phone number, and billing/delivery address must be shown on each purchase order for Finance & Contractor use.
- 3. Inspection on delivery and approval of contractor's invoice is the responsibility of the receiving using department.
- 4. Any complaint as to quality of goods or services, faulty or delinquent delivery, or violation of contract provisions by contractor shall be reported to FCG&PS Procurement for handling with the Contractor. All complaints must be submitted in writing and can be forwarded to Procurement via email, fax or courier.
- 5. **Pricing**: See Pricing Schedule on Next Page.

JI. PRICING EVALUATION

The Following are examples of routine up fittingof Law Enforcement Vehicles used by the City of Chesapeake. Bidder\$ shall provide pricing for the belo.v based on the pricing model listed in Appencfix **B**, Section I. Additionally the City will require the winningbidder 10 provide pricequotes for each of the below tables 10 Central Fleet Management by April 1110 each year.

A. 2021Pf UTIUTY- UPffTTING MARI <m &="" sergeant="" su<:ktop="" th="" upfitong<=""></m>				
Part#	Oesalption	Unit Price	Quantity	Extended Price
C•VS-I0U- INUT	Havis, 2021FordPl Utility Vehicle Specific Console	S 330.20	1	\$ 330.20
CM009785•1	Havis,HVAC Relocation Bracket Kit use <i c•vs-1012-inutconsole="" equipped="" hvaccontroller<="" if="" in="" is="" rear="" td="" vehicle="" with=""><td>SIncluded withC- SVS•1012•1NUT</td><td>1</td><td>\$ 0.00</td></i>	SIncluded withC- SVS•1012•1NUT	1	\$ 0.00
C-EB40-CCS-1P	Havis, CCSRNS faceplate	\$ Included with C-VS-1012-INUT	1	S 0.00
C·EB2S·XTL·IP	Havis, APX7500 Remote Faceplate	S Indud with C·VS-1012-INUT	I	S 0.00
C-E640-WSB- 1P	Havis, 1-Piece Equipment Mounting Bracket, 4• MountingSpace. Fits Whelen Arges Remote Spotlight control head	\$ Included with C+VS-1012-INUT	I	S 0.00
C-FP-1	Havis,1• Filler Blank	\$ Included with C·IIS-1012-INUT	1	S 0.00
C•FP-15	Havis, 1.5" Filler Blank	S Induded.,.th C·VS-1012-INVT	1	S 0.00
C•FP•2	Havis, 2• Filler Blank	\$ Included with C•VS-1012-INUT	1	S 0.00
C-ARM-102	Havis, Side Armrest	SIncludedwith	1	\$ 0.00
CUP2-1001	Havis, Self-Adjusting Double Cup Holder	\$ Indudedi1h C-VS-101.2 INUT	1	\$ 0.00
C·AP-0325	Havis, 3" Pocket	\$ Induded Wt1h ,,,,_,n,,_••••	1	\$ 0.00
C-US6-2	Havis Dual USB Outlet	\$ Illtl <kledwith< td=""><td>1</td><td>\$ 0.00</td></kledwith<>	1	\$ 0.00
C-MCB	Havis, Mic Cllp Bracket	\$ Incllidedwith	1	\$ 0.00
MMSU-1	Magnetic Mic Holder	\$26.21	1	S 26.21
C·MD-119	Havis, 11" Slide Out locking Swing Arm with low Proflle Motion Adapter	\$221.36	1	S 221.36
DS-PAN-113	Havis, Cf-31Cradle without ElearonIcs	Included *th \$ C•Vs-1012-INUT	1	S0.00

Part#	Desc:tlptlon	Unit Price	Quantity	Extended Price
IXSOUFZ	Whelen, SOLO XLPInner Edge w/TD's, 2021PI Utility	\$ 507.36	1	\$ \$07.36
ITRAYL10	Whelen,RearInnerEdge RST Series, 10Iamp Tray, Low Current, ctioose10SOLO lightheads and Vehicle Specific Housin1t andMount	\$ S38.08	1	\$ 538.08
MCRNTB	Whelen, Stud Mount Micron Super L.ED, Blue -To be mounted In front I(I'iUe	\$ 60.96	2	\$ 121.92
TLIB	Whelen, 81ue T-IONLED - 2) Tobe mounted in foglight area•·2) To be mounted vertical at license plate •· 2) Tobe mounted under rear hatch	\$ 64.80	6	\$ 388.80
IONS	Whelen, ION Super-LED Universal Light - Blue - 2) To be mounted in sidecargo windows	\$ 67.20	2	\$134.40
VH8609C	Whelen, Vertex w/9' Cable and VHB Tape • White •• 2) To be mounted in the side of the front headlights	\$ 60.00	2	\$ 120.00
VTX609R	Whelen, Vertex Super LEO Light • Red - 2) Tobe mounted in the rear talllight house	\$ 54.24	2	\$ 108.48
V23BTPB	Whelen, Combination 180" Warning, Take-Down and Puddle Light Combination, Blue Waming, Black Flange	\$ 135.36	2	\$ 270.72
3SRCCDCR	Whelen R/W Split Compartment LEO	\$ 3936	2	\$ 78.72
ARGES2	Whelen, Arges" Serles 360" Remote Control Profocus Spotlight, Black Housing	\$349.92	1	\$ 349.92
ARGCHI	Whelen, Control Head for Arees	\$ Induded w h \$ AllGES2	1	\$0.00
ARGSOD	Whelen, 2021FordPolice Interceptor UtIIItv,Driver Side Fender Mounting	Included with \$ ARGES2	1	S 0.00
SA31SP	Whelen, 100 Watt Speaker	\$ 157.44	1	\$ 157.44
SAK660	Whelen, 2021PIUtility driver side speaker mounting bracket	\$19,68	1	\$19.68

Part#	Oesa1ptlon	unitPrice	Quantity	Extended Price
295SLSA6	Whelen, SIren Switchbox Combo Unit	\$322.56	1	S322.S6
LOFT•PIU20-2G	Lund, 2021+ FOI'd PI Utility/Explorer, Loft Oual Weapon Storage Tray• Intemr Oemtnision 16.5" x 40", Includes 2 G1.m Locks, Muzzle Bracket Assembly, Butt Cup & Momentary Push button Switch, For use with a 18"Shotgun & M4	\$769.60	1	\$769.60
LOFT·PIU20· NPKIT	Lund, LOFTNon-Partition Mount Kit with front legs for 2021PIU	\$123.97	1	\$123.97
LOFT- LOCKTIMER	Lund, 10 Second Gun Lock Tlmer	Included with \$ LOFT.PIU20-2G	1	\$0.00
INSTHOW	Instalation Hardware U In, but not limited to Tape, Wire, Wire Connectors, loom, Nuts, Bolts, and other Misc Items	\$0.00	1	\$000
LABOR	labor to install the above quoted items BuildNotes: Customer request front headlights be hooked up to the OEM ffasfler	\$65.00	30	\$1950.00
IASOR	labor to install customer supplied Radio, Antenna and laptop Power Supply	\$65.00	3	\$19S.OO
LABOR	labor to install customer supoliedgraphics	\$6S.OO	2	\$ 130.00
	\$6864.42			

PartI Description UnitPrice Quantity Extended Price C-VS-1012-INUT Havis, 2021 Ford PI Utility Vehide Specfic Console \$330.20 1 \$330.20

Jndudl!d with

\$ C·VS 1012-tNUT

1

\$0.00

Havis, HVACRelocation
Bracket Kit used in

C•VS-IOU-INUT Console if

vehicle Isequipped with rear HVACcontroller

CM009785-1

8. 2021PIUTILITY - UPFIMNG MARKED PATROLOPERATIONS- FULL PRISONER TRANSPORT

Partll	Description	Unit Price	Quantity	Extended Price
C-E840-CCS-1P	Havis, CCSRNS Faceplate	Induaed with \$ C·VS-10U-INUT	1	\$0.00
C-EB2S->Cn•1P	Havis, APX7500 Remote Faceplate	Included with \$ C-VS-1012·INUT	1	\$0.00
C-EB40-WS8-1P	Havis, I•PieceEquipment Mounting Bracket, 4" MountingSpace,FitsWhelen Arges Remote Spotlil!ht control head	\$ Included with C•VS-1012-INUT	1	\$0.00
C•FP•I	Havis, I • Filler Blank	S Includedwith	1	\$0.00
C•FP•IS	Havis, 1.5" Filler Blank	\$ Inclu <kd c·vs·i012·inut<="" td="" with=""><td>1</td><td>\$0.00</td></kd>	1	\$0.00
C·FP-2	Havis, 2" Filler Blank	\$ Included with r.115.1n12-1N".,.	1	\$0.00
C-ARM-102	Havis, Side Armrest	\$ ln(lucled with <i>r.</i> ,,np,,,,,,.	1	\$0.00
CUP2·1001	Havis, Self-AdjustingDouble Cup Holder	\$ Induded with C·VS-1DU·INUT	1	\$0.00
C-AP-0325	Havis, 3" Pocket	Included with \$ C•Vs-1012-INUT	1	\$0.00
C-USB-2	Havis DualUSB Outlet	\$ 1ncl dwith C-V5-1012•INUT	1	\$0.00
C•MCB	Havis, Mic Clip Bracket • List \$1S.1	Included with \$ C•V5-1012 INUT	1	S0.00
MMSU·I	Magnetic MicHolder	\$26.21	1	\$26.21
C·MD-119	H;avls, 11" Slide OutLocking Swing Arm with Low Profile Motion Adapter	\$221.36	1	\$221.36
OS-PAN-113	Havis, CF-31Cradle without Electronics	\$ Induded with C-V\$-1012-1NUT	1	\$0,00
BB2EEEE	Whelen, 54" liberty II WecanX DUO+ Lhzhtbar	\$2946.72	1	\$2946.72
MCRNTB	Whelen, StudMount Micron Super LEO, Blue•• To be mounted in the front uille	\$60.96	2	\$ 121.92
n12E	Whelen, ION T-Series OUO Linear Super-LED, Blue/White - To bemounted in the fo11. li2ht area	\$75.36	2	\$150.72
TII2J	Whelen, IONT-Series DUO Linear Super-LED, Rad/Blue - •Tobe mounted vertical beside the rear license plate	\$75.36	2	S150.72
TLIB	Whelen, Blue T-IONLED - To be mounted under the rear hatch	S64.80	4	S 259.20

Part#	Description	Unit Price	Q.uantlty	Extended Price
VH86-09C	Whelen, Vertex w/9' Cable and VHS Tape - White To be mounted in the side of the front headlights	\$60.00	2	\$120.00
IONS	Whelen, ION Super-LED Universallight - Blue - To be mounted in the side cargo windows	S 67.20	2	\$134.40
3SRCCOCR	Whelen, R/W Split Compartment LEO To be mounted under the rear hatch, to be used ascargo area lighting	\$39.36	2	\$78.72
ARGES2	Whelen, Arges"• Series 360• Remote Control Profocus Spotliaht, Black HousinR	\$349.92	1	\$349.92
ARGCHI	Whelen, Control Head for Arges	\$ Inclsded with ARGW	1	S0.00
ARGSOD	Whelen, 2021FordPolice Interceptor Utility,Oriver Side Fender Mounting	\$ Included with ARGES2	1	\$0.00
SA31SP	Whelen, 100 Watt Speaker	\$ tncludcll with B112EEEE Uaht bilr	1	\$0.00
SAK660	Whelen, 2021PI Utility driver side speaker mounting bracket	\$ Inch.,ded with 682£EEE UJht bar	1	\$0.00
C399	Whelen, Cencom Core powered by Wecan X	\$ lnc1"ded with 892EEEE Ught bar	1	\$0.00
099KI	Whelen, Cencom Core 08011 ControlCable for Ford	\$ IncllIded with 892EEEE lialtt bar	1	S0.00
CCTL6	Whelen, Cencom Core Wecan X Control Head with4 position slide swltch,13 push buttons, 7 position rotary blob& Microphone	\$ Induded with 8B2EEEE light bar	1	\$0.00
PRPSP4700UINT20A	Progard, Prisoner Transport Partition with Recessed Panel, Split Lower Ext Panel & Passenger 1/2 Sliding Polycarbonate Window for 2021PI Utility	\$682.50	1	S682.SO
84702UINT20	Progard, ¼" Poly, Cargo Barrier withFiller Panels (for use w/ sidecurtain airbagsIn Police Package only} for 2021FordPl Utility	\$374.25	1	\$374.25

Part#	Description	UnitPrice	Quantity	EXtended Price		
LOFT•PIU20·2G	Lund, 2021+ FordPl Utility/Explorer, LoftDual Weapon Storage Tray - Interior DemInIsIon 16.S" x 40", Includes 2 GunLocks, Muzzle Bracket Assembly, Butt Cup & Momentary Push button Switch, For use with a 18" Shotiiun & M4	\$769.60	1	\$769.60		
LOFT-LOCKT1MER	Lund, 10 SecondGunI()(k Tlmer	Included with \$ LOFT-PIU20-2G	1	\$0.00		
TS2217B	TlgerTough, Black Tactical Driver seat cover for 2021 FordPollce Interceptor bucket seats	\$152.75	1	\$152.75		
2020-EMAP-	HSM, .080 Aluminum Plate used for mounting electronics In a 2021Pl Utilitv	\$0.00	1	S0.00		
INSTHOW	rnstallation Hardware asIn, but not r.mited to Tape, Wire, Wire Connectors, Loom, Nuts, Bolts, and other MiscItems	S0.00	I	\$0.00		
I IABOR	Labor to Install the above quoted items BuildNotes: - Customer request the head lights be hooked up to the OEM Flasher	\$65.00	35	\$2275.00		
LABOR	labor to In.stall customer supplied Radio, Antenna and La0top Power Suoolv	S65.00	3	\$195.00		
LABOR	Labor to install customer supplied graphics	\$65.00	2	\$130.00		
	Table B. TotalUp-Rt Cost: 9469.19					

C. 2021PIUTILITY - UPFfTTING MARKED PATROIOPERATIONS-1/2PRISONER TRANSPORT				
Part#	Description	UnltPrke	Quantity	ExtendedPrice
C·VS-1012· INUT	Havis, 2021FordPlUtility Vehicle Spttfic Console	\$330.20	1	\$330.20
CM0097SS-1	Havis, HVAC Relocation Bracket Kit usedin C-VS-1012- INUT Console if vehitle is equipped withrear HVAC controller	IMluded with \$ C•VS-tOU-INUT	1	\$0.00
C•EB40-CCS·1P	Havis, CCSRNS Faceplate	\$ Induded with C·VS-1012•1NUT	1	\$0.00
C·EB2S·XTI•IP	H,a11is, APX7500 Remote Faceplate	\$ Induded with C·VS·1012•INUT	1	\$0.00
C-EB40•WSB-1P	Havis, 1-Plece Equipment Mounting Bracket, 4" MountingSpace, fits Whelen Arges Remote Spotlight control head	\$ Included with C-VS-1012-INUT	1	\$0.00
C·FP•I	Havis, 1" Filler Blank	\$ Included with r.VC ,nn.1N11T	1	\$0.00
C·FP·IS	Havis, 1.5"Filler Blank	\$ Includedwith C•VH012•1NLIT	1	\$0.00
C-FP-2	Havi 1 s, Filler Blank	\$ Includedwith C-VS-1012-INUT	1	\$0.00
C•ARM•102	Havis, Side Armrest	\$ Intluded with C•VS•IOU•IN"T	1	So.00
CUP2-1001	Havis, Self-AdjustingOouble Cup Holder	\$ Included with C•V5-1012•1NUT	1	\$0.00
C·AP-0325	Havis, 3" Pocket	\$ Incl with C-V5-1012-INLIT	1	\$0.00
C-USB-2	Havis Dual USBOutlet	\$ Includedwith C-VS-1012,INLIT	1	\$0.00
C•MC8	Havis,MicClipBracket	\$ induded with C·VS-1012-INUT	1	\$0.00
MMSU·I	Magnetic Mic Holder	\$26.21	1	\$26.21
C-MD-119	Havis, 11" Slide Out locking Swing Arm withLow Profile Motion Adapter	\$221.36	1	\$221.36
OS-PAN-113	Havis, Cf-31 Cradle without Electronics	\$ tndudedwith C-VS-1012-INUT	1	\$0.00
B82EEEE	Whelen, \$4" Libertyll WecanX DUO+lightbar • See Drawing for Specif1Cations	\$2946.72	1	\$2946.72
MCRNTB	Whelen, StudMount Micron Super LED, Blue ·· To be mounted In the front11rille	\$60.96	2	\$121.92

Pm#	Description	Unit PTIce	Quantity	Elrtended Price
TL12E	Whelen, IONT-Serles DUO Linear Super-LED, Blue/White - To be mounted in the fog light area	\$75.36	2	s1so.n
TU2J	Whelen, ION T-Series DUO linear Super-LED, Red/Blue - To be mounted vertical beside the rear license plate	\$75.36	2	S1S0.72
TLIB	Whelen, Blue T-IONLEO - To be mounted under the rear hatch	S64.80	4	\$259.20
VHB609C	Whelen, Vertex w/9' Cable and VHB Tape. White - To be mounted in the sideof the front headlights	\$60.00	2	\$120.00
IONS	Whelen, ION Super-LED Universal Light• Blue • · To be mounted in the side cargo windows	\$67.20	2	\$134.40
3SRCCOCR	Whelen, R/W Split Compartment LEO - To be mounted under the re.ir hatch, to be used ascargo area	\$39.36	2	\$78.72
ARGE52	lighting Whelen, Arges''' Series 360° Remote Control Profocus Spotlight. Black Housing	\$349.92	1	\$349.92
ARGCHI	Whelen, Control Head for Arges	\$ Induded with ARG£S2	1	So.00
ARGSOO	Whelen, 2021Ford Police Interceptor Utility, Driver Side Fender Mounting	Include with \$ ARGES2</td <td>1</td> <td>\$0.00</td>	1	\$0.00
SA315P	Whelen, 100Watt Speaker	S tnclucItd with 882EEEE Uaht bar	1	\$0.00
SAK660	Whelen, 2021Pl Utility driver side speaker mounting bracket	Ind <hled \$="" b82eeee="" bar<="" td="" ugh!="" with=""><td>1</td><td>\$0.00</td></hled>	1	\$0.00
C399	Whelen, Cencom Core powered by Wecan X	\$ Included with a&2EEE£ Ugh!bar	1	\$0.00
C399K1	Whelen, Cencom Core 0B011 ControlCable for Ford	\$ Included with 882E£EE U•hl bar	1	\$0.00
CCTL6	Whelen, Cencom Core Wecan XControl Head with 4position slide swltch,13 push buttons, 7 position rotary knob & Microphone	Includedwith \$ 882EEEE Ughlbar	1	\$0.00

Part#	Description	Unit Price	Quantity	ExtendedPrice	
PIOOOUINT20A -CUSI	Progard, Custom NO SEAT, NO WINDOW BARS, Single Compartment Procell witti½ Partition, Lower Extension Panel(s), Poly Center Divider , & Poly Window cargo Barrier for 2021 for dPIU tility	\$1413.75	1	\$1413.7S	
LOFT-PIU20·2G	Lund, 2021+ Ford Pl Utility/Explorer, Lort Dual WeaponStorage Tray - Interior Demlnislon 16.S" x 40", Includes 2 Gun locks, Muzzle Bracket Assembly, Butt Cup& Momentaiy Push button Switch, for use witha 1a • Shotgun & M4	\$769.60	1	\$769.60	
LOFT- LOCKTIMER	Lund, 10Second Gunlock Timer	Included with \$ LOFT-PIU20·2G	1	\$0.00	
TS22178	TigerTough, BlackTactical Driver seat cover for l021 FordPoliceInt.erceptor bucket seats	\$152.75	1	S152.75	
2020-EMAP	HSM, .080 Aluminum Plate used for mountins electronics in a 2021PIUtility	\$0.00	1	\$0.00	
INSTHOW	Installation Hardware as in, but not UmIted to Tape, Wire, Wire Connectors, Ioom. Nuts, Bolts, and other Misc Items	\$0.00	1	\$0.00	
LABOR	labor toinstall the above quoted items BuildNotes: Customer request the head lights be hooked up to the OEM Flasher	\$65.00	38	\$2470.00	
LABOR	Labor to installcustomer supplied Radio, Antenna and Laptop Power Supply	\$65.00	3	\$195.00	
LABOR	Labor to Install customer suonlied11raphics	\$65.00	2	\$130.00	
	TabteC.Total Up.flt Cost: \$10021.19				